

208-14
BLUE-MAR

Filters: Start Date - 2/18/2000; End Date - 2/18/2026; Business unit applies to: - Equipment Business Unit; Equipment - D6 XE LGP CAT DOZER GPS [7871]

Work Order:	4424	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Rocky Mountain House Shop	Business Unit:	Machinery
Created by:	Equipement Maintenance	Start Date:	7/23/2019
Kms:	N/A	Stop Date:	7/23/2019
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: STEVE

Item ID	Description	Completed By	Reported Hours
5812	0250 Hour Service		0.00

- * Change engine oil.
- * Change engine oil filter.
- * Check all fluids.
- * Complete grease.

Work Order:	5033	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Rocky Mountain House Shop	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	8/22/2019
Kms:	N/A	Stop Date:	8/22/2019
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Notes: STEVE
TONY

Item ID	Description	Completed By	Reported Hours
---------	-------------	--------------	----------------

6923

0500 Hour Service

0.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	5940	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHM00305
Work Location:	Rocky Mountain House Shop	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	10/2/2019
Kms:	N/A	Stop Date:	10/31/2019
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00	RT Shop Lube	\$38.00	\$114.00
			Total Labor	\$114.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$114.00

Item ID	Description	Completed By	Reported Hours
8186	0250 Hour Service		3.00

- * Change engine oil.
- * Change engine oil filter.
- * Check all fluids.
- * Complete grease.

Work Order: 6883
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Rocky Mountain House Shop
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 11/15/2019
Stop Date: 1/31/2020

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total	
ANTHONY RODRIGUEZ	5.50 RT	Shop Lube	\$38.00	\$209.00	
			Total Labor	\$209.00	
				Total Parts	\$0.00
				Total Equip	\$0.00
			Total Cost	\$209.00	

Item ID	Description	Completed By	Reported Hours
10619	1000 Hour Service		5.50

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 7754
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location:
Created by: Josh LeBlanc
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total	
			Total Labor	\$0.00	
OLD STYLE RETAINER [6Y9459]	3.00	Each	\$3.41	\$10.23	
PIN (GOES WITH 1U3352WTL) [8E6358]	3.00	Each	\$1.52	\$4.56	
TOOTH - RIPPER TIP (TYPE 2) [6Y0359]	3.00	Each	\$19.96	\$59.88	
			Total Parts	\$74.67	
				Total Equip	\$0.00
			Total Cost	\$74.67	

Item ID	Description	Completed By	Reported Hours
12735	DRIVER REQUESTED SUPPLIES		0.00

Work Order: 7764
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location:
Created by: Josh LeBlanc
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
FIRST AID KIT ALBERTA LEVEL1 (BAG) [F881N260]	1.00	Each	\$13.58	\$13.58
			Total Parts	\$13.58
			Total Equip	\$0.00
			Total Cost	\$13.58

Item ID	Description	Completed By	Reported Hours
12741	MECH REQUESTED PARTS		0.00

Work Order: 8479
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Rocky Mountain House Shop
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 2/7/2020
Stop Date: 2/18/2020

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	6.00	RT Shop Lube	\$38.00	\$228.00
			Total Labor	\$228.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$228.00

Item ID	Description	Completed By	Reported Hours
14072	0250 Hour Service		6.00

- * Change engine oil.
- * Change engine oil filter.
- * Check all fluids.
- * Complete grease.

Work Order: 9420
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Rocky Mountain House Shop
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 3/20/2020
Stop Date: 4/30/2020

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	6.00 RT	Shop Lube	\$38.00	\$228.00
			Total Labor	\$228.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$228.00

Item ID	Description	Completed By	Reported Hours
16094	0500 Hour Service		6.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 10993
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Rocky Mountain House Shop
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 5/28/2020
Stop Date: 5/31/2020

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT	Shop Lube	\$38.00	\$114.00
			Total Labor	\$114.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$114.00

Item ID	Description	Completed By	Reported Hours
---------	-------------	--------------	----------------

18934 0250 Hour Service

3.00

- * Change engine oil.
- * Change engine oil filter.
- * Check all fluids.
- * Complete grease.

Work Order:	12788	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:		Business Unit:	Machinery
Created by:	Brent Thring	Start Date:	
Kms:	N/A	Stop Date:	
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
21414	7871-DIRECT BILL		0.00

Work Order:	15119	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	WM - Thorhild Landfill, Cell 2B construction	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	9/4/2020
Kms:	N/A	Stop Date:	9/10/2020
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00	RT Shop Lube	\$38.00	\$152.00
GARRY MELVIN	2.50	RT Shop Mech Field	\$54.00	\$135.00
			Total Labor	\$287.00
CORNER BIT [9W8874]	1.00	Each	\$68.00	\$68.00
CORNER BIT [9W8875]	1.00	Each	\$68.00	\$68.00
			Total Parts	\$136.00
			Total Equip	\$0.00
			Total Cost	\$423.00

Item ID	Description	Completed By	Reported Hours
25215	1000 Hour Service	Carla Merklin	6.50

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	16428	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	WM - Thorhild Landfill, Cell 2B construction	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	10/24/2020
Kms:	N/A	Stop Date:	10/26/2020
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	1.50 RT	Shop Mech Field	\$54.00	\$81.00
			Total Labor	\$81.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$81.00

Item ID	Description	Completed By	Reported Hours
22378	CRY SHEET 06-17-20 RIGHT STEP NEEDS REPAIRED	Tevin Ferris	1.50

Work Order:	16540	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	WM - Thorhild Landfill, Cell 2B construction	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	10/29/2020
Kms:	N/A	Stop Date:	11/5/2020
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	5.00 RT	Shop Lube	\$38.00	\$190.00
			Total Labor	\$190.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$190.00

Item ID	Description	Completed By	Reported Hours
27942	0250 Hour Service	Anthony Rodriguez	5.00

- * Change engine oil.
- * Change engine oil filter.
- * Check all fluids.
- * Complete grease.

Work Order:	18296	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	1/30/2021
Kms:	N/A	Stop Date:	1/30/2021
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TREVOR IRONSIDE	12.50 RT	Shop Weld Field	\$54.00	\$675.00
			Total Labor	\$675.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$675.00

Item ID	Description	Completed By	Reported Hours
32049	7871 - cork	Carla Merklin	12.50

Work Order:	19002	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	3/5/2021
Kms:	N/A	Stop Date:	3/5/2021
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	6.00 RT	Shop Lube	\$38.00	\$228.00
			Total Labor	\$228.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$228.00

Item ID	Description	Completed By	Reported Hours
33079	0500 Hour Service	Anthony Rodriguez	6.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	20171	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VMMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	4/27/2021
Kms:	N/A	Stop Date:	4/27/2021
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	2.50 RT	Shop Lube	\$38.00	\$95.00
			Total Labor	\$95.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$95.00

Item ID	Description	Completed By	Reported Hours
35944	0250 Hour Service	Anthony Rodriguez	2.50

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.

Work Order: 20710
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 5/18/2021
Stop Date: 6/7/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	10.50	RT Shop Mech Field	\$54.00	\$567.00
RYAN BERRY	3.00	RT Shop Mech Field	\$54.00	\$162.00
			Total Labor	\$729.00
D6 CUTTING EDGE CENTER [4733852]	2.00	Each	\$197.25	\$394.50
			Total Parts	\$394.50
			Total Equip	\$0.00
			Total Cost	\$1,123.50

Item ID	Description	Completed By	Reported Hours
37308	7871 - cutting edges	Carla Merklin	13.50

Work Order: 21934
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 6/28/2021
Stop Date: 7/6/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00	RT Shop Lube	\$38.00	\$114.00
			Total Labor	\$114.00
SEAL O-RING [2D8009]	2.00	Each	\$8.73	\$17.46
VALVE - FILL (CAT) [1908609]	1.00	Each	\$15.02	\$15.02
			Total Parts	\$32.48
			Total Equip	\$0.00
			Total Cost	\$146.48

Item ID	Description	Completed By	Reported Hours
38900	1000 Hour Service	Carla Merklin	3.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 22967
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 8/9/2021
Stop Date: 8/10/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT	Shop Lube	\$38.00	\$114.00
			Total Labor	\$114.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$114.00

Item ID	Description	Completed By	Reported Hours
40932	0250 Hour Service	Anthony Rodriguez	3.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.

Work Order: 24976
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 10/15/2021
Stop Date: 10/18/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	3.00 RT	Shop Mech Field	\$54.00	\$162.00
			Total Labor	\$162.00
BOLT HEXA HEA [Custom]	50.00 Each		\$6.21	\$310.50
CUTTING EDGE WASHER 3/4" [5P8248]	50.00 Each		\$2.09	\$104.50
NUT HEX FLAN[Custom]	50.00 Each		\$6.82	\$341.00
SEGMENT-SPRK[Custom]	10.00 Each		\$116.76	\$1,167.60
			Total Parts	\$1,923.60
			Total Equip	\$0.00
			Total Cost	\$2,085.60

Item ID	Description	Completed By	Reported Hours
45777	7871 - replace sprocket segments	Carla Merklin	3.00

Work Order: 25019
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHM00305
Business Unit: Machinery
Start Date: 10/16/2021
Stop Date: 10/19/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00 RT	Shop Lube	\$38.00	\$152.00
			Total Labor	\$152.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$152.00

Item ID	Description	Completed By	Reported Hours
44676	0500 Hour Service	Anthony Rodriguez	4.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 25509
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHM00305
Business Unit: Machinery
Start Date: 11/4/2021
Stop Date: 11/5/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	3.50 RT	Shop Mech Field	\$54.00	\$189.00
			Total Labor	\$189.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$189.00

Item ID	Description	Completed By	Reported Hours
---------	-------------	--------------	----------------

46909 7871 - check over Carla Merklin 3.50

Work Order:	26063	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	11/24/2021
Kms:	N/A	Stop Date:	11/29/2021
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	10.50 RT	Shop Mech Field	\$54.00	\$567.00
			Total Labor	\$567.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$567.00

Item ID	Description	Completed By	Reported Hours
47914	7871 - cork	Carla Merklin	10.50

Work Order:	30192	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	4/1/2022
Kms:	N/A	Stop Date:	4/4/2022
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	4.50 RT	Shop Mech Field	\$54.00	\$243.00
			Total Labor	\$243.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$243.00

Notes: 8 ROLLERS LEAKING

Item ID	Description	Completed By	Reported Hours
55369	7871 - INSTALL BATTERIES/CHECK OVER	Carla Merklin	4.50

Work Order: 31618
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 5/24/2022
Stop Date: 5/27/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT	Shop Lube	\$38.00	\$114.00
JOHN BARGEN	1.00 RT	Shop Mech Field	\$54.00	\$54.00
			Total Labor	\$168.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$168.00

Item ID	Description	Completed By	Reported Hours
50908	0250 Hour Service	Anthony Rodriguez	4.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: 31872
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 6/2/2022
Stop Date: 6/6/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	3.00 RT	Shop Mech Field	\$59.34	\$178.02
			Total Labor	\$178.02
CORNER BIT [9W8874]	1.00 Each		\$105.92	\$105.92
CORNER BIT [9W8875]	1.00 Each		\$105.92	\$105.92
HARDENED FLAT WASHER 3/4 [HDW.75]	34.00 Each		\$0.64	\$21.76
PLOW BOLT 3/4X2-1/2 [PB.75X2.5]	34.00 Each		\$1.84	\$62.56
PLOW NUT 3/4 [PN.750]	34.00 Each		\$0.78	\$26.52
			Total Parts	\$322.68
			Total Equip	\$0.00
			Total Cost	\$500.70

Item ID	Description	Completed By	Reported Hours
58604	7871 - check and adjust a/c	Carla Merklin	3.00

Work Order: 32488
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 6/23/2022
Stop Date: 6/27/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00	RT Shop Lube	\$41.17	\$123.51
			Total Labor	\$123.51
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$123.51

Notes: finals done

Item ID	Description	Completed By	Reported Hours
58654	1000 Hour Service	Anthony Rodriguez	3.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 32540
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 6/27/2022
Stop Date: 6/29/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	2.50	RT Shop Mech Field	\$59.34	\$148.35
			Total Labor	\$148.35
SERPENTINE BELT [3493353]	1.00	Each	\$156.51	\$156.51
			Total Parts	\$156.51
			Total Equip	\$0.00
			Total Cost	\$304.86

Item ID	Description	Completed By	Reported Hours
59934	7871 - check belt pulleys, replaced both front track rollers, replaced belt	Carla Merklin	2.50

Work Order: 33039
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 7/12/2022
Stop Date: 7/15/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	1.50 RT	Shop Mech Field	\$59.34	\$89.01
TEVIN FERRIS	18.00 RT	Shop Mech Field	\$59.34	\$1,068.12
			Total Labor	\$1,157.13
CORNER BIT [9W8874]	1.00 Each		\$82.00	\$82.00
CORNER BIT [9W8875]	1.00 Each		\$82.00	\$82.00
D6 CUTTING EDGE CENTER [4733852]	2.00 Each		\$180.42	\$360.84
			Total Parts	\$524.84
			Total Equip	\$0.00
			Total Cost	\$1,681.97

Item ID	Description	Completed By	Reported Hours
60834	7871 - T/S A/C VACUUM AND RECHARGE	Carla Merklin	19.50

Work Order: 33451
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 7/22/2022
Stop Date: 7/26/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$82.34

Item ID	Description	Completed By	Reported Hours
61452	0250 Hour Service	Anthony Rodriguez	2.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: 33800
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 8/3/2022
Stop Date: 8/8/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	6.50 RT	Shop Mech Field	\$59.34	\$385.71
TEVIN FERRIS	20.00 RT	Shop Mech Field	\$59.34	\$1,186.80
			Total Labor	\$1,572.51
3/4 FLAT WASHER [FASFW5P8248]	34.00 Each		\$0.35	\$11.90
3/4 NUT [FAS178016]	34.00 Each		\$0.82	\$27.88
CORNER BIT [9W8874]	1.00 Each		\$88.50	\$88.50
CORNER BIT [9W8875]	1.00 Each		\$88.50	\$88.50
D6 CUTTING EDGE CENTER [4733852]	2.00 Each		\$193.50	\$387.00
GLASS-DOOR [5327731]	1.00 Each		\$683.34	\$683.34
handle assy [5053657]	1.00 Each		\$108.33	\$108.33
PLOW BOLT 3/4X2-1/2 [PB.75X2.5]	34.00 Each		\$1.84	\$62.56
ROLLER [3967353]	2.00 Each		\$370.93	\$741.86
			Total Parts	\$2,199.87
			Total Equip	\$0.00
			Total Cost	\$3,772.38

Item ID	Description	Completed By	Reported Hours
62050	7871 - instal new tracks	Carla Merklin	26.50

Work Order: 34556
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 8/30/2022
Stop Date: 8/30/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT	Shop Lube	\$41.17	\$123.51
			Total Labor	\$123.51
ELEMENT [3891079]	1.00	Each	\$51.70	\$51.70
ELEMENT AS-X 3375270 {0951678 oring is included} [5715253]	1.00	Each	\$72.74	\$72.74
ENGINE LUBE FILTER {LF691A} [2444484]	1.00	Each	\$49.12	\$49.12
FILTER AIR {P635779} [5771435]	1.00	Each	\$104.87	\$104.87
FILTER CAB AIR [5458339]	1.00	Each	\$58.59	\$58.59
FILTER CARTRIDGE [4648460]	1.00	Each	\$93.73	\$93.73
FILTER CARTRIDGE {5931533} [4648460]	1.00	Each	\$154.90	\$154.90
FILTER FUEL SPIN-ON {FF5319, 1R1712, P551311} [1R0749]	2.00	Each	\$21.99	\$43.98
ORING (CAT) [0951681]	1.00	Each	\$11.32	\$11.32
Secondary ELEMENT ASSY {P638607} [3318108]	1.00	Each	\$18.60	\$18.60
			Total Parts	\$659.55
			Total Equip	\$0.00
			Total Cost	\$783.06

Item ID	Description	Completed By	Reported Hours
62896	0500 Hour Service	Anthony Rodriguez	3.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 34846
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 9/10/2022
Stop Date: 9/12/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			Total Labor	\$118.68
GLASS AS SLI[Custom]	1.00 Each		\$313.11	\$313.11
GLASS[Custom]	1.00 Each		\$311.65	\$311.65
			Total Parts	\$624.76
			Total Equip	\$0.00
			Total Cost	\$743.44

Item ID	Description	Completed By	Reported Hours
64141	7871 - no cab heat	Carla Merklin	2.00

Work Order: 35179
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 9/19/2022
Stop Date: 9/21/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			Total Labor	\$118.68
HEATER LINE SHUT OFF VALVE [6V7238]	1.00 Each		\$38.68	\$38.68
HEATER LINE SHUT OFF VALVE [6V7238]	1.00 Each		\$38.68	\$38.68
LINK AS TRAC[Custom]	2.00 Each		\$5,576.33	\$11,152.66
LINK AS TRAC[Custom]	2.00 Each		\$5,900.54	\$11,801.08
SEAL [3K0360]	1.00 Each		\$2.36	\$2.36
SEGMENT-SPRK [4906505]	10.00 Each		\$156.97	\$1,569.70
			Total Parts	\$24,603.16
			Total Equip	\$0.00
			Total Cost	\$24,721.84

Item ID	Description	Completed By	Reported Hours
64697	7871 - tighten tracks /check over	Carla Merklin	2.00

Work Order: 35746
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 10/2/2022
Stop Date: 10/7/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
ENGINE LUBE FILTER {LF691A} [2444484]	1.00 Each		\$48.13	\$48.13
			Total Parts	\$48.13
			Total Equip	\$0.00
			Total Cost	\$130.47

Item ID	Description	Completed By	Reported Hours
60486	0250 Hour Service	Anthony Rodriguez	2.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: 36510
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 10/31/2022
Stop Date: 10/31/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	5.00	RT Shop Lube	\$41.17	\$205.85
			Total Labor	\$205.85
ELEMENT [3891079]	1.00	Each	\$54.06	\$54.06
ELEMENT AS-X 3375270 {0951678 oring is included} [5715253]	1.00	Each	\$72.79	\$72.79
ENGINE LUBE FILTER {LF691A} [2444484]	1.00	Each	\$51.08	\$51.08
FILTER (CAT) [3261643]	1.00	Each	\$43.76	\$43.76
FILTER AIR {P635779} [5771435]	1.00	Each	\$108.05	\$108.05
FILTER CAB AIR [5458339]	1.00	Each	\$61.95	\$61.95
FILTER FUEL SPIN-ON {1R1712} [1R0749]	2.00	Each	\$21.71	\$43.42
ORING (CAT) [0951681]	1.00	Each	\$11.54	\$11.54
Secondary ELEMENT ASSY {P638607} [3318108]	1.00	Each	\$45.17	\$45.17
			Total Parts	\$491.81
			Total Equip	\$0.00
			Total Cost	\$697.66

Item ID	Description	Completed By	Reported Hours
66976	1000 Hour Service	Anthony Rodriguez	5.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 36680
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 10/24/2022
Stop Date: 11/4/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			Total Labor	\$118.68
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$118.68

Item ID	Description	Completed By	Reported Hours
67661	7871 - flip cutting edges	Carla Merklin	2.00

Work Order: 37162
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 11/11/2022
Stop Date: 11/21/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	6.00 RT	Shop Weld Field	\$55.71	\$334.26
			Total Labor	\$334.26
BOLT[Custom]	3.00 Each		\$1.42	\$4.26
BOLT-HEX [4914518]	2.00 Each		\$7.18	\$14.36
CAM-LATCH [3192305]	1.00 Each		\$7.27	\$7.27
CUTTING EDGE WASHER 3/4" [5P8248]	2.00 Each		\$2.55	\$5.10
DOOR AS [Custom]	1.00 Each		\$474.50	\$474.50
LATCH [3716434]	1.00 Each		\$47.69	\$47.69
NUT-HEX [5045774]	2.00 Each		\$7.49	\$14.98
PIN - LARGE [8E0468]	3.00 Each		\$4.47	\$13.42
RETAINER [8E8469]	3.00 Each		\$3.58	\$10.75
TOOTH - RIPPER TIP (TYPE 2) [6Y0359]	3.00 Each		\$58.07	\$174.21
WASHER [7X7729]	3.00 Each		\$1.75	\$5.25
			Total Parts	\$771.80
			Total Equip	\$0.00
			Total Cost	\$1,106.06

Item ID	Description	Completed By	Reported Hours
68640	7871 - remove rails and check over	Brittinni Lockard	6.00

Work Order: 37381
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 11/20/2022
Stop Date: 12/2/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	14.00	RT Shop Weld Field	\$55.71	\$779.94
MATTHEW GERVAIS	1.00	RT Shop Mech Field	\$59.34	\$59.34
TEVIN FERRIS	12.00	RT Shop Mech Field	\$59.34	\$712.08
			Total Labor	\$1,551.36
BUMPER - GLOVE COMPARTMENT D6 [4260972]	2.00	Each	\$8.30	\$16.60
BUMPER - GLOVE COMPARTMENT D6 [4260972]	2.00	Each	\$8.30	\$16.60
PLATE[Custom]	2.00	Each	\$98.04	\$196.08
			Total Parts	\$229.28
			Total Equip	\$0.00
			Total Cost	\$1,780.64

Notes: 5004

Item ID	Description	Completed By	Reported Hours
69036	7871 - dpf cleaning	Brittinni Lockard	27.00

Work Order: 38720
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 1/16/2023
Stop Date: 1/16/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	2.50	RT Shop Mech Field	\$59.34	\$148.35
			Total Labor	\$148.35
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$148.35

Item ID	Description	Completed By	Reported Hours
71445	7871 - REMOVE RAILS	Brittinni Lockard	2.50

Work Order: 40789
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 3/24/2023
Stop Date: 3/24/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	14.00 RT	Shop Mech Field	\$59.34	\$830.76
			Total Labor	\$830.76
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$830.76

Item ID	Description	Completed By	Reported Hours
75381	7871 - install ripper cylinder	Brittinni Lockard	14.00

Work Order: 43536
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 6/20/2023
Stop Date: 6/20/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$82.34

Item ID	Description	Completed By	Reported Hours
78112	0250 Hour Service	Anthony Rodriguez	2.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: 43754
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 6/28/2023
Stop Date: 6/28/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	27.50 RT	Shop Mech Field	\$59.34	\$1,631.85
			Total Labor	\$1,631.85
2569990 OIL DRAIN COVER[Custom]	1.00 Each		\$1.00	\$1.00
RING[Custom]	1.00 Each		\$127.81	\$127.81
SEAL AS[Custom]	1.00 Each		\$685.62	\$685.62
SEAL O-RING [2D8009]	2.00 Each		\$8.73	\$17.46
SENSOR AS-IM[Custom]	1.00 Each		\$2,446.09	\$2,446.09
SENSOR AS-IM[Custom]	1.00 Each		(\$2,446.09)	(\$2,446.09)
			Total Parts	\$831.89
			Total Equip	\$0.00
			Total Cost	\$2,463.74

Item ID	Description	Completed By	Reported Hours
80509	7871 - checkover	Brittinni Lockard	27.50

Work Order: 45394
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 8/21/2023
Stop Date: 8/21/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	1.00 RT	Shop Mech Field	\$59.34	\$59.34
			Total Labor	\$59.34
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$59.34

Item ID	Description	Completed By	Reported Hours
83305	7871 - FLIP SHANKS/ TIGHTEN TRACKS	Carla Merklin	1.00

Work Order: 45845
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 9/5/2023
Stop Date: 9/5/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT	Shop Lube	\$41.17	\$123.51
			Total Labor	\$123.51
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$123.51

Item ID	Description	Completed By	Reported Hours
83852	0500 Hour Service	Anthony Rodriguez	3.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 45863
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 9/5/2023
Stop Date: 9/5/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	24.00 RT	Shop Mech Field	\$59.34	\$1,424.16
			Total Labor	\$1,424.16
BEARING ANGLE CYLINDER [5107300]	1.00 Each		\$701.27	\$701.27
RETAINING RING [8T7567]	2.00 Each		\$32.63	\$65.26
			Total Parts	\$766.53
			Total Equip	\$0.00
			Total Cost	\$2,190.69

Item ID	Description	Completed By	Reported Hours
---------	-------------	--------------	----------------

84163	7871 - checkover	Brittinni Lockard	24.00
-------	------------------	-------------------	-------

Work Order:	47696	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:		Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	
Kms:	N/A	Stop Date:	
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
87863	7871 - FINNING REPAIR FOR CODES	Brittinni Lockard	0.00

Work Order:	47789	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	10/30/2023
Kms:	N/A	Stop Date:	10/30/2023
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	8.50 RT	Shop Mech Field	\$59.34	\$504.39
			Total Labor	\$504.39
SENSOR GP PR [3679097]	1.00 Each		\$371.99	\$371.99
			Total Parts	\$371.99
			Total Equip	\$0.00
			Total Cost	\$876.38

Item ID	Description	Completed By	Reported Hours
87988	7871 - REMOVE BROKEN BOLTS FOR LIFT CYLINDER GUARDS AND STRAIGHTEN PANELS	Brittinni Lockard	8.50

Work Order: 47936
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 11/2/2023
Stop Date: 11/2/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
SENSOR POWER TRAIN [3306719]	1.00	Each	\$393.20	\$393.20
			Total Parts	\$393.20
			Total Equip	\$0.00
			Total Cost	\$393.20

Item ID	Description	Completed By	Reported Hours
88280	7871 - T/S CODES	Brittinni Lockard	0.00

Work Order: 49367
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 12/14/2023
Stop Date: 12/14/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	387.50	RT Shop Mech Field	\$59.34	\$22,994.25
ALLAN SUTHERLAND	2.00	RT Shop Mech Field	\$59.34	\$118.68
BARTLEY WEST	18.50	RT Shop Weld Field	\$55.71	\$1,030.64
HERMANN KUKOWSKI	2.50	RT Shop Mech Field	\$59.34	\$148.35
JOHN BARGEN	6.50	RT Shop Mech Field	\$59.34	\$385.71
MATTHEW GERVAIS	10.50	RT Shop Mech Field	\$59.34	\$623.07
TEVIN FERRIS	4.00	RT Shop Mech Field	\$59.34	\$237.36
			Total Labor	\$25,538.06
1195445 RING[Custom]	2.00	Each	\$53.48	\$106.96
1460742 RING[Custom]	1.00	Each	\$18.71	\$18.71
1672204 SEAL AS BUFF[Custom]	1.00	Each	\$66.22	\$66.22
1672314 SEAL-U-CUP[Custom]	1.00	Each	\$43.13	\$43.13
1709840 SEAL BUFFER[Custom]	2.00	Each	\$63.87	\$127.74
1903010 SEAL -O-RING[Custom]	1.00	Each	\$11.40	\$11.40
2271148 SEAL-WIPER[Custom]	1.00	Each	\$54.26	\$54.26
3102187 SEAL ORING[Custom]	2.00	Each	\$10.81	\$21.62
3102187 SEAL ORING[Custom]	2.00	Each	\$10.81	\$21.62
3232474 BEARING-WEAR[Custom]	2.00	Each	\$102.05	\$204.10
3E6703 SEAL[Custom]	2.00	Each	\$13.34	\$26.68
3E6703 SEAL[Custom]	2.00	Each	\$13.34	\$26.68
4784178 SEAL - WIPER[Custom]	2.00	Each	\$43.62	\$87.24
4958191 SEAL AS[Custom]	2.00	Each	\$61.96	\$123.92

\$115.22	\$115.22	1.00	Each	4958209 SEAL AS[Custom]
\$115.22	\$115.22	1.00	Each	4958209 SEAL AS[Custom]
\$74.19	\$74.19	1.00	Each	4958209 SEAL AS[Custom]
\$74.19	\$74.19	1.00	Each	4958209 SEAL AS[Custom]
\$297.51	\$99.17	3.00	Each	5733358 SEAL KIT[Custom]
\$198.34	(\$99.17)	2.00	Each	5733358 SEAL KIT[Custom]
\$172.08	\$86.04	2.00	Each	5804039 SEAL-U-CUP[Custom]
\$411.04	\$102.76	4.00	Each	6002952 SEAL KIT[Custom]
(\$308.28)	(\$102.76)	3.00	Each	6002952 SEAL KIT[Custom]
(\$320.52)	(\$106.84)	3.00	Each	6002953 SEAL KIT[Custom]
\$427.36	\$106.84	4.00	Each	6002953 SEAL KIT[Custom]
\$184.72	\$92.36	2.00	Each	6220674 SEAL-WIPER-O[Custom]
\$43.46	\$21.73	2.00	Each	6238497 GUIDE ROD[Custom]
\$1,026.28	\$256.57	4.00	Each	BEARING [1600305]
\$212.70	\$106.35	2.00	Each	BEARING WEAR [3232476]
(\$204.10)	(\$102.05)	2.00	Each	BEARING-WEAR 3232474[Custom]
\$708.60	\$354.30	2.00	Each	BEARING-SLEE 5112435[Custom]
(\$212.70)	(\$106.35)	2.00	Each	BEARING-WEAR 3232476[Custom]
\$502.64	\$125.66	4.00	Each	C-FRAME BUSHING [4751994]
\$1,517.26	\$758.63	2.00	Each	C-FRAME PIN [5040473]
\$77.27	\$77.27	1.00	Each	CORNER BIT [9W8874]
\$77.27	\$77.27	1.00	Each	CORNER BIT [9W8875]
\$24.10	\$24.10	1.00	Each	COUPLER AS [6V4143]
\$466.98	\$233.49	2.00	Each	D6 CUTTING EDGE CENTER [4733852]
\$3.63	\$3.63	1.00	Each	FEMALE-FEMALE CONNECTOR [020244]
\$59.03	\$59.03	1.00	Each	FILTER HYDRAULIC [3891079]
(\$15.04)	(\$15.04)	1.00	Each	GASKET [2579788]
\$15.04	\$15.04	1.00	Each	GASKET [2579788]
\$43.72	\$21.86	2.00	Each	GUIDE-ROD [3672195]
(\$43.46)	(\$21.73)	2.00	Each	GUIDE-ROD 06 6238497[Custom]
(\$43.72)	(\$21.86)	2.00	Each	GUIDE-ROD 07 3672195[Custom]
\$1.52	\$1.52	1.00	Each	HEX PIPE NIPPLE [010124]
\$182.33	\$182.33	1.00	Each	HOSE AS 4910841[Custom]
\$398.94	\$398.94	1.00	Each	HOSE AS 5461020[Custom]
\$341.26	\$341.26	1.00	Each	HOSE AS 5655104[Custom]
\$116.76	\$116.76	1.00	Each	LOCKNUT [4564486]
\$116.76	\$116.76	1.00	Each	LOCKNUT [4564486]
\$354.74	\$354.74	1.00	Each	MOTOR-WIPER [5112372]
\$21.62	\$10.81	2.00	Each	ORING [3102187]
(\$4.97)	(\$4.97)	1.00	Each	ORING [4J0522]
\$19.88	\$4.97	4.00	Each	ORING [4J0522]
\$24.71	\$24.71	1.00	Each	ORING [4S5898]
\$7.41	\$7.41	1.00	Each	ORING [8T3298]
\$105.99	\$105.99	1.00	Each	ORING INSPECTION COVER [2391139]
\$29.18	\$14.59	2.00	Each	ORS PLUG [16PML05]
\$106.96	\$53.48	2.00	Each	RING [1195445]
\$17.06	\$8.53	2.00	Each	RING [2J3961]
\$17.06	\$8.53	2.00	Each	RING [2J3961]
\$17.06	\$8.53	2.00	Each	RING [2J3961]
\$17.06	\$8.53	2.00	Each	RING [2J3961]
(\$17.06)	(\$8.53)	2.00	Each	RING [2J3961]
\$14.42	\$14.42	1.00	Each	RING [2K2961]
\$14.42	\$14.42	1.00	Each	RING [2K2961]
\$4.52	\$4.52	1.00	Each	RING [4F7391]

WASHER [4733201]	4.00 Each	\$12.07	\$48.28
WASHER [4T3522]	4.00 Each	\$26.61	\$106.44
WIPER SEAL [4784179]	2.00 Each	\$43.89	\$87.78
		Total Parts	\$10,274.77
		Total Equip	\$0.00
		Total Cost	\$35,812.82

Notes: HYDRAULIC AND TRANSMISSION OIL WERE BOTH CHANGED.
 must order for lift cylinder rod seal:
 146-0742 plastic ring
 167-2204 buffer seal
 167-2314 rod u-cut seal
 227-1148 double lip wiper seal
 213961 ring-back up
 3e6703 seal o-ring
 1195445 guide-piston
 310-2187 seal o-ring
 495-8191 seal-wiper

Item ID	Description	Completed By	Reported Hours
90726	7871 - HYDRULIC LIFT CYLINDER FAILURE	Carla Merklin	431.50

Work Order:	50942	Status:	Transferred
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	2/12/2024
Kms:	N/A	Stop Date:	2/12/2024
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
KYLE DRANEY	12.00 RT	Shop Weld Rky	\$47.83	\$573.96
TEVIN FERRIS	8.50 RT	Shop Mech Field	\$59.34	\$504.39
			Total Labor	\$1,078.35
1091393 BOLT-SOCKET[Custom]	4.00 Each		(\$0.26)	(\$1.04)
3464995 SOLENOID[Custom]	1.00 Each		(\$282.50)	(\$282.50)
BOLT-SOCKET 1091393[Custom]	4.00 Each		\$0.26	\$1.04
SOLENOID 3464995[Custom]	5.00 Each		(\$282.50)	(\$1,412.50)
SOLENOID 3464995[Custom]	6.00 Each		\$282.50	\$1,695.00
STRIP 5054318[Custom]	4.00 Each		\$106.78	\$427.12
			Total Parts	\$427.12
			Total Equip	\$0.00
			Total Cost	\$1,505.47

Item ID	Description	Completed By	Reported Hours
93275	7871 - WELDING FINNING GRADE CONTROL	Carla Merklin	20.50

Work Order: 53641
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 4/29/2024
Stop Date: 4/29/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00 RT	Shop Lube	\$41.17	\$164.68
			Total Labor	\$164.68
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$164.68

Item ID	Description	Completed By	Reported Hours
97891	6000 Hour Service	Anthony Rodriguez	4.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Change hydraulic oils.
- * Change coolant.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 54746
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 6/6/2024
Stop Date: 6/6/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT	Shop Lube	\$41.17	\$123.51
			Total Labor	\$123.51
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$123.51

Item ID	Description	Completed By	Reported Hours
83628	0250 Hour Service	Anthony Rodriguez	3.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order:	54976	Status:	Closed
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	
Kms:	N/A	Stop Date:	
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
HERMANN KUKOWSKI	6.00	RT Shop Mech Field	\$59.34	\$356.04
			Total Labor	\$356.04
BEARING {5107300, 1600305 } [GEG60ES2RS]	2.00	Each	\$89.02	\$178.04
D6 STEP LH [320373836]	1.00	Each	\$670.37	\$670.37
D6 STEP RH [320373835]	1.00	Each	\$670.37	\$670.37
			Total Parts	\$1,518.78
			Total Equip	\$0.00
			Total Cost	\$1,874.82

Item ID	Description	Completed By	Reported Hours
100728	7871 - HYD OIL LEAK	Carla Merklin	6.00

Work Order:	56097	Status:	Closed
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	
Kms:	N/A	Stop Date:	
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	4.00	RT Shop Lube	\$41.17	\$164.68
			Total Labor	\$164.68
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$164.68

Item ID	Description	Completed By	Reported Hours
102192	0500 Hour Service	Carla Merklin	4.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	56444	Status:	Closed
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	
Kms:	N/A	Stop Date:	
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
HERMANN KUKOWSKI	18.00	RT Shop Mech Field	\$59.34	\$1,068.12
			Total Labor	\$1,068.12
CAM-LATCH - RAD COVER [2750571]	1.00	Each	\$5.28	\$5.28
CN LATCH ASSEMBLY [4656593]	1.00	Each	\$75.75	\$75.75
GLASS-DOOR [5327731]	1.00	Each	\$744.78	\$744.78
MOTOR GP-WIP 4934898[Custom]	1.00	Each	\$326.96	\$326.96
REAR WASHER CONNECTOR [8T5400]	3.00	Each	\$8.49	\$25.47
REAR WIPER MOTOR [4745545]	1.00	Each	\$299.57	\$299.57
			Total Parts	\$1,477.81
			Total Equip	\$0.00
			Total Cost	\$2,545.93

Item ID	Description	Completed By	Reported Hours
103310	7871 - checkover	Carla Merklin	18.00

Work Order: 57913
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	15.00 RT	Shop Mech Field	\$59.34	\$890.10
			Total Labor	\$890.10
BEARING {5107300, 1600305 } [GEG60ES2RS]	2.00 Each		\$337.94	\$675.88
RING [3W1852]	1.00 Each		\$149.84	\$149.84
SEAL [5216903]	1.00 Each		\$304.99	\$304.99
SEAL O-RING [2D8009]	1.00 Each		\$12.41	\$12.41
TRACK BOLT [9S1838]	4.00 Each		\$5.66	\$22.64
			Total Parts	\$1,165.76
			Total Equip	\$0.00
			Total Cost	\$2,055.86

Item ID	Description	Completed By	Reported Hours
105885	7871 - TILT CYLINDER BUSHINGS	Carla Merklin	15.00

Work Order: 57971
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	1.00 RT	Shop Lube	\$41.17	\$41.17
			Total Labor	\$41.17
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
90003	0250 Hour Service	Carla Merklin	1.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: 59196
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	18.00 RT	Shop Mech Field	\$59.34	\$1,068.12
			Total Labor	\$1,068.12
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$1,068.12

Item ID	Description	Completed By	Reported Hours
108300	7871 - T/S GENERATOR/INVERTER CODES	Carla Merklin	18.00

Work Order: 61543
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	6.00 RT	Shop Lube	\$41.17	\$247.02
			Total Labor	\$247.02
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$247.02

Item ID	Description	Completed By	Reported Hours
111152	1000 Hour Service	Carla Merklin	6.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 61793
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Randy Wearmouth
Kms: N/A
Hr: 8689

Status: Transferred
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	11.00 RT	Shop Mech Field	\$59.34	\$652.74
ALLAN SUTHERLAND	3.00 RT	Shop Mech Field	\$59.34	\$178.02
			Total Labor	\$830.76
CORNER BIT [9W8874]	1.00 Each		\$73.93	\$73.93
CORNER BIT [9W8875]	1.00 Each		\$73.93	\$73.93
			Total Parts	\$147.85
			Total Equip	\$0.00
			Total Cost	\$978.61

Item ID	Description	Completed By	Reported Hours
113241	7871 - REPLACE END BITS	Carla Merklin	14.00

Work Order: 63303
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 2/3/2025
Stop Date: 2/3/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00 RT	Shop Lube	\$41.17	\$41.17
			Total Labor	\$41.17
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
97655	0250 Hour Service	Brittinni Lockard	1.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: 63529
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 2/7/2025
Stop Date: 2/7/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	9.00	RT Shop Mech Field	\$59.34	\$534.06
			Total Labor	\$534.06
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$534.06

Item ID	Description	Completed By	Reported Hours
116209	7871 - electrical connections	Brittinni Lockard	9.00

Work Order: 63568
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Clayton Michelson
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 2/10/2025
Stop Date: 2/10/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
CLAYTON MICHELSON	13.75	RT Shop Weld Field	\$55.71	\$766.01
			Total Labor	\$766.01
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$766.01

Item ID	Description	Completed By	Reported Hours
116280	corking #251447	Brittinni Lockard	13.75

Work Order: 64437
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 3/4/2025
Stop Date: 3/4/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	2.50 RT	Shop Lube	\$41.17	\$102.93
			Total Labor	\$102.93
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$102.93

Item ID	Description	Completed By	Reported Hours
117250	0500 Hour Service	Anthony Rodriguez	2.50

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 65444
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Randy Wearmouth
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 3/31/2025
Stop Date: 3/31/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	22.00	RT Shop Mech Field	\$59.34	\$1,305.48
			Total Labor	\$1,305.48
13" WIPER BLADE {60131, 330 mm} [20131]	2.00	Each	\$5.55	\$11.10
15" WIPER BLADE [20151]	1.00	Each	\$5.55	\$5.55
D6 STEP LH [320373836]	1.00	Each	\$563.89	\$563.89
D6 STEP RH [320373835]	1.00	Each	\$506.95	\$506.95
PIN (GOES WITH 1U3352WTL) [8E6358]	2.00	Each	\$3.93	\$7.85
RETAINER {XR 6Y9459, 6Y2527} [8E6359]	2.00	Each	\$3.66	\$7.32
TOOTH - RIPPER TIP (TYPE 2) {FC350R2, RC350 R2} [6Y0359]	2.00	Each	\$77.09	\$154.18
			Total Parts	\$1,256.83
			Total Equip	\$0.00
			Total Cost	\$2,562.31

Item ID	Description	Completed By	Reported Hours
119775	7871 - CHECK OVER	Carla Merklin	22.00

Work Order: 67783
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 6/3/2025
Stop Date: 6/3/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00	RT Shop Lube	\$41.17	\$41.17
			Total Labor	\$41.17
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
116779	0250 Hour Service	Anthony Rodriguez	1.00

- * Sample engine oil.
- * Check all fluids.
- * Complete grease.

Work Order: 70369
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 7/17/2025
Stop Date: 7/17/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			Total Labor	\$118.68
5002915 BEARING SLEEVE[Custom]	1.00 Each		(\$135.78)	(\$135.78)
BEARING {5107300, 1600305 } [GEG60ES2RS]	1.00 Each		\$91.69	\$91.69
BEARING SLEEVE [5002915]	2.00 Each		\$135.78	\$271.56
CORNER BIT [9W8874]	1.00 Each		\$72.07	\$72.07
CORNER BIT [9W8875]	1.00 Each		\$72.07	\$72.07
D6 CUTTING EDGE CENTER [4733852]	2.00 Each		\$201.27	\$402.53
HOSE 5011406[Custom]	1.00 Each		\$331.37	\$331.37
ROLLER [3985218]	1.00 Each		\$322.74	\$322.74
SELF ALIGNING BEARING [5493113]	2.00 Each		\$640.20	\$1,280.40
SPACER [4733136]	1.00 Each		\$83.40	\$83.40
SPACER [4733186]	1.00 Each		\$100.69	\$100.69
			Total Parts	\$2,892.74
			Total Equip	\$0.00
			Total Cost	\$3,011.42

Item ID	Description	Completed By	Reported Hours
128031	7871 - TILT CYLINDER BARREL BUSHINGS AND PINS, ALL WIPER BLADES	Brittinni Lockard	2.00

Work Order: 70384
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 7/17/2025
Stop Date: 7/17/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00 RT	Shop Lube	\$41.17	\$164.68
			Total Labor	\$164.68
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$164.68

Item ID	Description	Completed By	Reported Hours
127024	1000 Hour Service	Anthony Rodriguez	4.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	71457	Status:	Closed
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Al Sutherland	Start Date:	8/10/2025
Kms:	N/A	Stop Date:	8/10/2025
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	10.00	RT Shop Mech Field	\$59.34	\$593.40
			Total Labor	\$593.40
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$593.40

Item ID	Description	Completed By	Reported Hours
130032	7919 bad roller	Brittinni Lockard	10.00

Work Order:	72476	Status:	Closed
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Max Krabben	Start Date:	8/30/2025
Kms:	N/A	Stop Date:	8/30/2025
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
MAXWELL KRABBen	3.00	RT Shop Mech Rky	\$49.05	\$147.15
			Total Labor	\$147.15
4" SQUARE - 60D FLOOD 80W *OES ORDER FROM NORTHERN LIGHTS ARE IN STOCK* [N174860]	2.00	Each	\$78.72	\$157.44
			Total Parts	\$157.44
			Total Equip	\$0.00
			Total Cost	\$304.59

Item ID	Description	Completed By	Reported Hours
131824	7871 - CHECKOVER	Brittinni Lockard	3.00

Work Order: 72508
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Kurt Wirda
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 9/2/2025
Stop Date: 9/2/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
HERMANN KUKOWSKI	1.00 RT	Shop Mech Field	\$59.34	\$59.34
KURT WIRDA	6.00 RT	Shop Mech Field	\$59.34	\$356.04
Total Labor				\$415.38
Total Parts				\$0.00
Total Equip				\$0.00
Total Cost				\$415.38

Item ID	Description	Completed By	Reported Hours
131988	7871 checkover	Brittinni Lockard	7.00

Work Order: 73811
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 9/29/2025
Stop Date: 9/29/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
J. HAMELIN	0.50 RT	Shop Lube	\$41.17	\$20.59
Total Labor				\$20.59
FILTER AIR {DON: 5771435} [5771435]	1.00 Each		\$119.28	\$119.28
FILTER AIR {DON: P638607} [3318108]	1.00 Each		\$50.05	\$50.05
Total Parts				\$169.33
Total Equip				\$0.00
Total Cost				\$189.92

Item ID	Description	Completed By	Reported Hours
133594	0250 Hour Service	Charles Hamelin	0.50

- * Sample engine oil.
- * Check all fluids.
- * Complete grease.

Work Order: 74478
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location:
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
135486	7871 - FINNING COMBUST BODY T/S IN FIELD	Brittinni Lockard	0.00

Work Order: 75042
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 10/29/2025
Stop Date: 10/29/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	4.00 RT	Shop Mech Field	\$59.34	\$237.36
			Total Labor	\$237.36
BEARING {5107300, 1600305, FINN:3969945 } [GEG60ES2RS]	1.00 Each		\$103.40	\$103.40
BOLT - MASTER PIN LINK [2540224]	4.00 Each		\$8.00	\$32.02
FILTER AIR {DON: 5771435} [5771435]	1.00 Each		\$122.98	\$122.98
FILTER AIR {DON: P638607} [3318108]	1.00 Each		\$51.60	\$51.60
			Total Parts	\$310.00
			Total Equip	\$0.00
			Total Cost	\$547.36

Item ID	Description	Completed By	Reported Hours
136605	7871 - AIR FILTERS	Brittinni Lockard	4.00

Work Order: 75186
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Kai Ehn
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 10/31/2025
Stop Date: 10/31/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
KAI EHN	1.00 RT	Shop Mech Field	\$59.34	\$59.34
			Total Labor	\$59.34
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$59.34

Item ID	Description	Completed By	Reported Hours
136995	7871 replace tilt cyliner bushing	Brittinni Lockard	1.00

Work Order: 75436
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 11/7/2025
Stop Date: 11/7/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	5.00 RT	Shop Lube	\$41.17	\$205.85
			Total Labor	\$205.85
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$205.85

Item ID	Description	Completed By	Reported Hours
136374	0500 Hour Service	Anthony Rodriguez	5.00

- * Change engine oil.
- * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	75537	Status:	Closed
Equipment:	D6 XE LGP CAT DOZER GPS [7871]	Serial Number:	CAT000D6VHMH00305
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Kai Ehn	Start Date:	11/11/2025
Kms:	N/A	Stop Date:	11/11/2025
Hr:	8689		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	8.00	RT Shop Mech Field	\$59.34	\$474.72
			Total Labor	\$474.72
BEARING {5107300, 1600305, FINN:3969945 } [GEG60ES2RS]	2.00	Each	\$96.71	\$193.42
CORNER BIT [9W8874]	1.00	Each	\$72.48	\$72.48
CORNER BIT [9W8875]	1.00	Each	\$72.48	\$72.48
PIN - PITCH LINK AND ANGLE BLADE {5040478} [4680944]	1.00	Each	\$173.59	\$173.59
SNAP RING [N13000375]	2.00	Each	\$15.41	\$30.82
			Total Parts	\$542.78
			Total Equip	\$0.00
			Total Cost	\$1,017.50

Item ID	Description	Completed By	Reported Hours
137755	flip cutting edges and install new corner bits	Brittinni Lockard	8.00

Work Order: 75559
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Aaron Samuelson
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 11/12/2025
Stop Date: 11/12/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	8.00	RT Shop Mech Field	\$59.34	\$474.72
			Total Labor	\$474.72
CORE ITEM - BATTERY 1000CCA 1250CA [7T31P]	2.00	Each	\$128.95	\$257.90
CORE ITEM - BATTERY GROUP 4D 12V 1050CCA {MNC:MS4D1250M, BT4DP101EXCH} [904D]	1.00	Each	\$296.69	\$296.69
			Total Parts	\$554.59
			Total Equip	\$0.00
			Total Cost	\$1,029.31

Item ID	Description	Completed By	Reported Hours
137786	7871 replace hydraulic hose	Brittinni Lockard	8.00

Work Order: 75834
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Kai Ehn
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 11/18/2025
Stop Date: 11/18/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	4.00	RT Shop Mech Field	\$59.34	\$237.36
KAI EHN	5.00	RT Shop Mech OES	\$0.00	\$0.00
			Total Labor	\$237.36
CORE ITEM - BATTERY GROUP 4D 12V 1050CCA {MNC:MS4D1250M, BT4DP101EXCH} [904D]	2.00	Each	\$289.13	\$578.26
SPARK PLUG FOR USE WITH WIRE ASSY 2956244 [2953099]	1.00	Each	\$18.69	\$18.69
			Total Parts	\$596.96
			Total Equip	\$0.00
			Total Cost	\$834.32

Item ID	Description	Completed By	Reported Hours
138325	7871-replace battery	Brittinni Lockard	9.00

Work Order: 77094
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Al Sutherland
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 12/15/2025
Stop Date: 12/15/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	12.00	RT Shop Mech Field	\$59.34	\$712.08
			Total Labor	\$712.08
COMPRESSOR [6040680]	1.00	Each	\$934.42	\$934.42
SERPENTINE BELT [3493353]	1.00	Each	\$166.23	\$166.23
			Total Parts	\$1,100.65
			Total Equip	\$0.00
			Total Cost	\$1,812.73

Item ID	Description	Completed By	Reported Hours
140310	7871 ac compressor seized	Brittinni Lockard	12.00

Work Order: 77292
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Carla Merklin
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 12/19/2025
Stop Date: 12/19/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
138351	0250 Hour Service	Carla Merklin	0.00

- * Sample engine oil.
- * Check all fluids.
- * Complete grease.

Work Order: 77911
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Kale Hemphill
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 1/14/2026
Stop Date: 1/14/2026

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
KALE HEMPHILL	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			Total Labor	\$118.68
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$118.68

Item ID	Description	Completed By	Reported Hours
141717	7871 remove gps module	Brittinni Lockard	2.00

Work Order: 78099
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Scheduled
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date: 1/21/2026
Stop Date: 1/21/2026

Item ID	Description	Completed By	Reported Hours
142032	7871 - SALES PREP		0.00

Work Order: 79690
Equipment: D6 XE LGP CAT DOZER GPS [7871]
Work Location:
Created by: Brittinni Lockard
Kms: N/A
Hr: 8689

Status: Closed
Serial Number: CAT000D6VHMH00305
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
144246	7871 - FINNING REPAIR FOR WONT REGEN	Brittinni Lockard	0.00

128607

EQUIP SOB PARTS - JULY 2025

Brittinni Lockard

0.00

Part#1Part DescQTY16Y6300MASTER SHOE 30"2
